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Example: Find solutions to the equation:
V16 —x =14
to undo the square root, we Square both sides:
15-x=I5—x =42=16
So, we are left with the equation:
15—x=16
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to undo the square root, we Square both sides:
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Vv1b—x =4
to undo the square root, we Square both sides:
15-x=I5—x =42=16
So, we are left with the equation:
15—x=16
Subtracting 15 from both sides
—x =18 —x45=16-15=1
Leaving use with:
—x =1
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Example: Find solutions to the equation:
Vv1b—x =4
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15-x=I5—x =42=16
So, we are left with the equation:
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Subtracting 15 from both sides
—x =18 —x45=16-15=1
Leaving use with:
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Example: Find solutions to the equation:

V1b—x=4
to undo the square root, we Square both sides:
15-x=I5—x =42=16
So, we are left with the equation:
15—x=16
Subtracting 15 from both sides
—x =18 —x45=16-15=1
Leaving use with:
—x =1
Multiplying by -1 on both sides
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Example: Find solutions to the equation:
Vv1b—x =4
to undo the square root, we Square both sides:
15-x=I5—x =42=16
So, we are left with the equation:
15—x=16
Subtracting 15 from both sides
—x =18 —x45=16-15=1
Leaving use with:
—x =1
Multiplying by -1 on both sides
x=—-x(-1)=1(-1)=-1
Conclusion: The solution to v/15 —x =4 is: x = —1
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Checking the solution x = —1 we get:
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